AWESOME ARITHMETIC!

Use your arithmetic, written methods and problem solving skills to answer
all of the questions. Make sure you turn over!

573 + 289 = 70 = 4 =
b36 + =786 764 - 497 =
63 x 3 = Circle the mistake.

0.8,09,0.1,1.1,12,1.3

Draw a pair of parallel lines.
Remember to use a ruler.

What is % of 20?

Now turn over for your problem solving and reasoning questions...




Q1.

Kirsty, Seb, Mina, Jack and Donna belong to a sporis club.

This table shows the sports they do in one week.

Mon Tues Wed Thurs Fri
Kirsty Kirsty
Swimming Jack Donna
Jack Donna
Mina
Jogging Seb Mina Kirsty
Jack
Kirsty
Cycling Jack Seb
Donna

How many of the children do not go swimming?

Write the names of all the children who go both jogging and cycling.

Q2.

How many more chocolate than strawberry ice creams were sold?

1 mark

1 mark

stands for
10 ice creams

This pictogram shows the number of ice creams a shop sold in one day.

\AAAA

XXX
XXX

How many ice creams were sold altogether?

1 mark

1 mark



